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01 A& HI 610,000 445,650 164,350
NES 2ZIIBAIE FHIA 80,000,000& 80,000
Net=(ES)8 X e 50,000,000 50,000
NZRAMY A2 FA2a
30,000,000& =14 30,000
NaY s SFHA EX HY
450,000,000 450,000
=2 & =4 2,849 0 2,849
201 YuHe | 2,849 0 2,849




SN 2s2BD
PSR L
el ARNLEA SE D
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2324l 2,849 0 2,849
N33 2 HMA 2,849
2)0lzold ®MI|ot™ZL2|Hl 2,848,560 *14] 2,849
Gtol o &FHIOHIEE 1,372,000 0 1,372,000
Xl 823,000
s 549,000
401 Al HIZ 201 Y| 1,372,000 0 1,372,000
X 823,000
fia 549,000
01 A& HI 1,367,061 0 1,367,061
1)5H ol S HIOtIH I =S AL 1,367,061,000& 1,367,061
Xl 820,237
s 546,824
03 A& =2 THHI 4,939 0 4,939
1ot SHI Ot =S AL 4,939,000 4,939
Xl 2,763
e 2,176
FUHEENAE 150,000 ,000 15,000
308 AHAIEHHSOIA 150,000 ,000 15,000
08 WSII20HetE = 150,000 ,000 15,000
Netn HEFX KNI AMY
150,000, 000& *1JH A& 150,000
ol dsxo & el 2% 20,000 877 ~8,877
101 @124l 3,000 ,877 A13,877
04 JIZHHZ2Z2XNSE+ 3,000 ,877 A 13,877
N2R23 S sF2elol 3,000
2) L AlALS 50,0003 1«60 3,000
201 LEr2 Y| 17,000 ,000 5,000
01 At 2teltl 3,000 ,000 0
Nelsx9 & "sE g 3,000,000& 3,000
02 3322l 14,000 ,000 5,000
N3223 2 MA 9,000
2)8I123 600,000 12& 7,200
2)8seaZ, dHYRZ, SEE
150,000 128 1,800
A4 ZHI X bl 5,000
2)lEsx9E EHOIXN RXNES
5,000,000 » 14! 5,000
INHE 2 EE2H 2235 500,000 0 500,000
Xl 300,000
e 200,000
401 Al HIZ 2018 500,000 0 500,000
Xl 300,000




EA: St
S O
Sl RPHYEN (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 200,000
01 Al& H| 496,400 0 496,400
NIHE 2 EZ24 2N 496,400,000 496,400
Xl 297,840
= 198,560
03 AlE 201 Y| 3,600 0 3,600
NIHE 2 ES2H 223 3,600,000 3,600
Xl 2,160
= 1,440
MEH=E 4 1,966,024 2,095,249 N 129,225
J| 168,372
& 1,350
= 1,796,302
MRS 1,966,024 2,095,249 N 129,225
J| 168,372
< 1,350
= 1,796,302
HEXE 428 18,820 18,820 0
201 LBt | 3,820 3,820 0
01 AP 22| d| 3,820 3,820 0
NAZE o L A EES MHZE
2,000,000& 14l 2,000
1)= &l 1,820
2QMEXNRAL =X OHAH|
7,000¥ 2 x1308] 1,820
202 04| 15,000 15,000 0
01 2L Y| 15,000 15,000 0]
1)=2 L4 O i 15,000
2IMEXNY A28 Z2Ho4H]
50,0002 x3H *1003] 15,000
MEHSEHSE 795,060 1,116,785 N321,725
201 et d| 45,400 45,400 0
01 AF 22| H| 41,400 41,400 0
N 41,400
2)2EAUY A2 200,000 x 169 A +12E 38,400
)00t XE 24 HED AMAES
250,000 x12& 3,000
03 HAI2 HHI 4,000 4,000 0
NEL=M NEWE W= 4,000,000 =14l 4,000
301 LEtE A= 20,000 27,000 27,000
11 JIEtE A= 20,000 27,000 27,000
1NE2Y SHMEHSE Ss8 25 N
20,000,000 14! 20,000




2AMd: 2322
M MEBHR 84
@2 MSIH (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 729,660 1,044,385 A 314,725
02 ItE M AMHEE 655,400 1,044,385 A 388,985
NH273 dSMEUH=sHS &It XS
90,000,000& 90,000
NHetds HEdMEMsUa =2t XA
30,000,000& 30,000
NEcte T HoHA M=l &I+ 15,000,000 15,000
Nelotx =54 MEysUsE HaA
95,000,000 95,000
NEgUg FadMEHEUE XA
7,200,000& 7,200
N8ENs AXx 28 210 XA
9,000,000& 9,000
NE= A3 MEds0UE &8 L HEXE (A
OlEZ 2 13MHESR) 198,000, 000 198,000
NSNS (L 024 XIS 0iHl)
30,000,000& 30,000
NHSISREA L ZAF DAY
9,000,000 9,000
NYENs s53 2412 40,000, 000& 40,000
NegMs & WEds 35X 9,000,000 9,000
NHEMSUHS NEBINEFAE L 22X
4,500,000 4,500
NEENs A2 BF &t 4,500,000& 4,500
NUSHSHSANES2S)7, 8E7Y
27,000,000& 27,000
NHsSY dedss g3 X
25,200,000& 25,200
NHZA HOIE=THSE &It 18,000, 000& 18,000
N HOIEZSUa =t 15,000, 000& 15,000
NEXAF L SX3EI HOESUE &It
9,000,000 9,000
NMse A3s MHA 20,000, 000& 20,000
03 QIAHMHE2IHIEE 74,260 0 74,260
NYEEH=3 22H(3323) 34,000,000& 34,000
NSNS 2294 (2128]) 30,000,000& 30,000
Negxsgds da2e N 2
10,260,000 10,260
dEN==EH 821,400 613,900 207,500
301 g2 4= 385,560 373,060 12,500
Vo=t - 2S2S243 354,560 333,360 21,200
Neorx s+ 20 124,560
)22 1,300,000& x6H 123 93,600
2)=¢ 300,000& x6H x12& 21,600
2)EE SOt 1,300, 000& x60%*6H 23] 9,360
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2N 222
Al

& AHFO| & 2e
o9 HSALE 22 (29l 8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
NRoIAYEES 132,000& x12& 1,584
NS TUL/HISLEI| 22|
1,090, 000& 1,090
N2 HSTEXRINSEME 1,550, 000& 1,550
NZUHEARADEIRA(Z2XD]) 2,000,000& 2,000
NAZXEISAEEH S X 2]
100,000& = 12& 1,200
NZ2CIHS2 A& ZH KX 300,000& x12& 3,600
401 Al HI 2L 2 0HHI 30,000 27,000 3,000
01 Al&H| 30,000 27,000 3,000
NZoHE2 & ALIXER HEALES A2
2l 30,000,000& 30,000
SSTABEHEI|IBIRS 66,100 172,637 AN 106,537
= 10,000
= 56,100
SN 243 66,100 172,637 AN 106,537
= 10,000
= 56,100
CEAS HRFA 8,920 12,690 N3,770
201 Bt A H| 2,920 3,690 NTT70
01 At 22l b 2,920 3,690 ATT70
1)L Bt 2H| 1,380
2INREE 2 900,000& 900
2)01E2 X H$I| MEB2 40,000& *123] 480
1)2 &l 1,540
)TN HL2=E Ofal]
7,000& *2H *1103] 1,540
202 044 6,000 9,000 A 3,000
01 2L Y| 6,000 9,000 A 3,000
1)=2 L4 O i 6,000
2) A2 2= 2 HAYI
50,000& x2H *603] 6,000
SN 2HXA 31,140 54,017 N22,877
201 LEr2 Y| 31,140 31,140 0
01 AP 2t2ldl 4,300 4,300 0
1)L et 2H| 4,300
2Q)dpss 22 2,300
3) N At 100& *3,0000H 300
3) 0 et & 202 *10,0000H 200
)R E 100& *3,0000H 300
3)8|HE 4 000 x2000H 800
3) & Atetet 9| H 100& *3,0000H 300




0b 0K HO

S
BEMNBEEIIUAS
M g5

H . ool (30) - NIRAY - B il 2
3)M et 3 H 50& *4,00004 200
3R =91 100& *2,0000H 200
QTNBUESERE 750
3)LIAI}IER|IX 25,000& x63] 150
3)DBS AHZS DATHI 20,0002 =304 600
2)AHAIEE 2 OFLHERH & (14]) 500,000 500
Q)BAEE 2 SEFXNF(43]) 500,000& 500
)8Zd T U 2,500& * 1004 250
02 3323l 26,840 26,840 0
1NBBL2LAA 16,840
2)x0x FESMEHE MEBE
600,000 128 7,200
2)2E= 60,000& x12& 720
2)YBLEIIAIE S 400,000& 8 3,200
2)MOMIIANERZ 450,000& =62 2,700
2)E DIt M E 3l 115,000& 128 1,380
Q)N g3 50,000& *23| 100
)Mol E MBS 30,000& *123] 360
2) A HoFA A A 500,000& x 13l 500
2)E N2 3l 480,000& 480
2)22=bl 100,000& »23| 200
DAE &Hl S X 10,000
)N FHArze] 10,000,000& 10,000
S NZ23 A 6,040 6,040 0
201 L2l 6,040 6,040 0
01 AR 22| 6.040 6,040 0
NZUSETLUS HARE =2
70,0003 *3 x4 840
N+ M 300,000 300
NUHEI0ISSEdFI SSHPANE 2 A=
700,000 *70H & 4,900
ANEHOFNES 20,000 18,000 2,000
& 10,000
[ 10,000
405 XHoHE S HI 20,000 18,000 2,000
= 10,000
= 10,000
02 S A=l 20,000 18,000 2,000
NEA2 HIXXZE 2 (EH) 20,000, 000& 20,000
= 10,000
= 10,000
B2 (222 t) 15,080 15,080 0
Jl2Zl 15,080 15,080 0




fAH: S2st22 1
M HHS A (2TT )
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JI22dl 15,080 15,080 0
201 L2l 5,780 5,780 0
01 At 22l 5,780 5,780 0
nanees #¢ 200,000 17 3,400
NestZan RFX oAl
7,000& *17H »203] 2,380
202 odl 5,100 5,100 0
01 S LHOYI 5,100 5,100 0
NestZzan d2F3 oyl
50,000& *17Z x6 2] 5,100
203 YR =2t 4,200 4,200 0
04 FN2IEHS AL 4,200 4,200 0
NEMSZEYRFIH 350,000& =128 4,200
Hees (2221 45,000 300,000 255,000
HEAHHX= 45,000 300,000 255,000
LHEAHHXI & 45,000 300,000 A 255,000
702 J1SHES 45,000 300,000 A 255,000
(RPIE=RSE—= 45,000 300,000 A 255,000
Nelotz MsEIIS HEY 45,000,000 45,000




